
Classwork 4.  

 

1. Represent 𝑎24 as an exponent with the base: 

Example: (𝑎2)12 = 𝑎24 

 

𝑎.  𝑎2;         𝑏.   𝑎3;           𝑐.  𝑎4;           𝑑.   𝑎6;           𝑒.    𝑎8;           𝑓.  𝑎12 

 

2. Compare the following exponents: 

𝑎.   12723    𝑎𝑛𝑑  51218 (hint: use power of 2 );          𝑏.    225 𝑎𝑛𝑑  324 (hint: use 𝑎𝑙+𝑘 = 𝑎𝑘 ∙ 𝑎𝑙  )             

3. Write in the increasing order: 

𝑎.   − 0.11, (−0.11)2, (−0.11)3,          (−0.11)4 

𝑏.     (
1

3
)

30

, (−
1

5
)

30

,         − (
1

7
)

30

 

4. How many kilograms of butter can be produced from 1000 kg of milk, if fat content of milk is 

3.5% and fat content of butter is 75%? 

 

5. Prove that  

 

1114 + 322   is divisible by 10 (hint: when you add two numbers, you need the last digit to be 0 

for the number being divisible by 10) 

 

97 − 310   is divisible by 20 

 


